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2010 2009

INCOME STATEMENT DATA:

($ in thousands, except per share data)

Interest income 7,397$                           7,214$                             

Interest expense 1,049                             1,328                               

  Net interest income 6,348                             5,886                               

Provision for credit losses 300                                1,112                               

  Net interest income after provision for credit losses 6,048                             4,774                               

Noninterest income 2,468                             3,831                               

Noninterest expense 6,806                             6,814                               

  Income before income taxes 1,710                             1,791                               

  Income tax expense 642                                455                                  

  Net income 1,068$                           1,336$                             

COMMON SHARE DATA:

Net income 0.56$                             0.72$                               

Book value 11.41                             10.98                               

Common stock outstanding at end of period 1,863,813                      1,863,713                        

Weighted average Common shares

  outstanding during period 1,863,774                      1,867,277                        

BANK PERFORMANCE DATA:

Return on average total assets 0.68% 0.96%

Return on average total equity 4.65% 6.93%

Net interest income as a % of average assets 4.03% 4.23%

Loans to deposits 83% 83%

BANK CAPITAL RATIOS:

Tier 1 risk-based capital 23.11% 16.96%

Total risk-based capital 24.38% 18.23%

Tier 1 leverage 16.17% 14.51%

Years ended December 31, 
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2010 2009

BALANCE SHEET DATA:

($ in thousands)

Assets:

Cash & due from banks 2,919$                1,597$                

Short-term Investments 13,525                21,977                

Investment Securities 28,810                19,009                

Loans, net 102,355              101,625              

Other Assets 10,378                12,692                

  Total Assets 157,987$            156,900$            

Liabilities:

Deposits:

Non-interest bearing demand 11,937$              13,751$              

NOW 19,196                20,681                

Money Market & Savings 34,014                22,872                

Time, $100,000 or more 11,664                10,044                

Other time 49,525                58,328                

  Total Deposits 126,336              125,676              

Borrowings 2,555                  7,986                  

Other Liabilities 2,046                  2,774                  

  Total Liabilities 130,937              136,436              

Stockholder's Equity 27,050                20,464                

  Total Liabilities & Stockholder's Equity 157,987$            156,900$            

2010 2009

Commercial business 28,468$              24,176$              

Real Estate:

  Commercial mortgage 70,386                72,955                

  Construction and land development 6,873                  7,926                  

Installment loans to individuals 10                       11                       

Total Gross Loans 105,737              105,068              

Less: net deferred loan fees (425)                   (474)                   

Total Loans, net of deferred fees 105,312              104,594              

Less: Allowance for credit losses (2,957)                (2,969)                

Loans, net 102,355$            101,625$            

(In thousands)

Loan Portfolio Composition

At December 31, 

Years ended December 31, 
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